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Candidates should answer in their own words 

and adhere to the word limit as practicable. 

ECOACORO8T-ECONOMICS (CC8) 

(a) What is mixed strategy? 

Answer any five questions from the following: 

All symbols are of ustual significance. 

(b) Find the Nash equilibrium of the following game -

4011 

(e) What is free rider problem? 

(g) Define monopsony. 

Player 1 |T (3,3)|(2,4) 

(The first entry with brackets is the pay off of Player 1) 

(c) What do you mean by welfare economics? 

Player 2 
L R 

(d) Mention conditions of market failure in relation to public good. 

(f) What is conjectural behaviour? 

B(4,2)| (1,1) 

(h) Let Q=12L-I be the production function. Price of O is Rs. 10 per unit. 

Derive the equation of the VMP, curve. 
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2. 

3. 

Answer any four questions from the following: 

(a) Prisoner's dilemma is an example of non-cooperative game Explain. 
Prisoner's dilemma' RN AAA geft Gg�UNIPA|I 

(b) Describe the conditions of exchange efficiency in a two-person-two-good 
model. 

(c) What is externality? Give an example of one positive externality in production. 

(d) Why the supply curve of labour is backward bending? 

(e) State the assumptions of the Cournot's model. 

() Why does the market demand curve for a variable factor usually differ from the 
horizontal summation of individual demand curves? 

Answer any two questions from the following: 

(a) 'Rent is not the income of a specific factor of production' - Explain. 

(b) Derive the firm's demand curve for a variable factor when several variable 
factors are used in the production in a competitive set up. 

(c) Do you agree with the statement that ... if all the markets in an economy are 
perfectly competitive, Pareto efficiency will automatically be reached' 

4011 

reasons. 

(d) In a duopoly, let the cost functions of the firms are c, = 300,, and c, = 300, 
respectively. Price in the market is determined by the following demand 
equations: 

P=150-Q, where Q = +l. 

Give 

Find that the firm I will be benefitted relative to firm 2 by taking decisions first. 

P=150-Q,aRIA Q= +,1 

2 

5x4 = 20 

10×2 = 20 
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